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1. ARV THREZHCTREERD ZRD L. (SH1330F, A2 20, B33 30F, CHs545)

(1) 23+422+5z+3% z—2TCHl3. (2) 23 —622+1lz—6% z—3 CTH 3.
(3) 203 —z2—22+5% x+2 THZ3B. (4) 2*—5224+7x % 2—17TH 3.
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2. MAVTHREZHCTHERYZRO L. (SH1530%, Aik2520%, B#35 301, CHls557)

(1) 24202+ 3r+4% x—2 THA. (2) 23— 42?2 +5x—12 % z—4 CTH 3.
(3) 3x3—4a?2—6x+1%2 x+1THZ3. (4)  2*4323-32x+7% x2+3 TH3.
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AT THREZHWCTEHERDZRO L. (SH1T530F, Afk2520, B35 308, C#ks54)
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FERATH) E () D& ) Icn 2. REMDIEDIRL THEL TV 2 Ez2ENLW.
(1) 23+422+52+3 % 2—2 TH 3. (2) 23—622+11z—6 % z—3 TH 3.
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2. MAVTHREZHCTHERYZRO L. (SH1530%, Aik2520%, B#35 301, CHls557)

(1) 234222 +3zx+4% 2—2 TH 3. (2) a3 —4a?+5x—12% x—4 TH 3.
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(3) 3z —422—6x+1% x+1 TH3. (4)  2*+4313—-3x+7% x+3 TH3.
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